

$$m_2 = 9$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$3y - 1 = 27(x - 3)$$

$$3y - 1 = 27x - 81$$

$$3y - 27x + 80 = 0$$

Name: Ogeeta Bernice Grew
MBA

19/03/2022

Math 101 Assignment

1) $y = 2x$ at the point $(1, 2)$

$$\frac{dy}{dx} = 2x$$

$$m = \frac{dy}{dx} \text{ at } x = x_1$$

$$m = 4(1) = 4$$

Equation of the tangent:

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y = 4x - 4 + 2$$

$$y = 4x - 2 \Rightarrow y - 4x + 2 = 0$$

Equation of the normal:

$$m_2 = -\frac{1}{m_1}$$

$$m_2 = -\frac{1}{4}$$

$$m_2 = -\frac{1}{4}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = -\frac{1}{4}(x - 1)$$

$$y - 2 = -\frac{x}{4} + \frac{1}{4}$$

$$-8 = -x + 1$$

$$+x - 9 = 0$$

$$+x - 9 = 0$$

2) $y = 3x^2 - 2x$ at point $(2, 8)$

$$\frac{dy}{dx} = 6x - 2$$

$$m = 6(2) - 2$$

$$m = 12 - 2 = 10$$

a) Equation of the tangent:

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x - 8 + 20 = 0$$

$$y - 10x + 12 = 0$$

b) Equation of the normal:

$$m_2 = -\frac{1}{m_1}$$

$$m_2 = -\frac{1}{10}$$

$$y - y_1 = -\frac{1}{10}(x - x_1)$$

$$y - 8 = -\frac{x}{10} + \frac{1}{5}$$

$$10y - 80 = -x + 2$$

$$10y + x - 82 = 0$$

3) $y = \frac{x^3}{2}$ at point $(-1, -\frac{1}{2})$

$$y = \frac{x^3}{2}$$

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$m = \frac{dy}{dx} \text{ at } x=2$$

$$m = \frac{3(2-1)}{2}$$

$$m = \frac{3}{2}$$

a) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{2} = \frac{3}{2}(x - (1))$$

$$y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

$$2y + 1 = 3x + 3$$

$$2y - 3x - 2 = 0$$

b) Equation of the normal

$$m_1 = -\frac{1}{m_2}$$

$$m_2 = -\frac{2}{3}$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$\text{eq } 1 \Rightarrow -4(x + 1)$$

$$\text{eq } 2 \Rightarrow -2x - 4$$

$$\text{eq } 3 \Rightarrow 4x + 2 = 0$$

a) $y = 12x - x^2$ at point $(-2, -5)$

$$\frac{dy}{dx} = 12 - 2x$$

$$m = \frac{dy}{dx} \text{ at } x = -2$$

$$m = 1 - (-2)$$

$$m = 1 + 2 = 3$$

a) Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 3(x + 2)$$

$$y + 5 = 3x + 6$$

$$y - 3x - 1 = 0$$

b) Equation of the normal

$$m_1 = -\frac{1}{m_2}$$

$$m_2 = -\frac{1}{3}$$

$$y + 5 = -\frac{1}{3}(x + 2)$$

$$3y + 15 = -1(x + 2)$$

$$x + 15 = -x - 2$$

$$2x + 17 = 0$$

i) $y = \frac{1}{x}$ at point $(3, \frac{1}{3})$

$$\frac{dy}{dx} = 1 - \frac{1}{x^2}$$

$$m = \frac{dy}{dx} \text{ at } x = 3$$

$$m = -\frac{1}{9}$$

a) Equation of the tangent:

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y + x - 6 = 0$$

b) Equation of the normal

$$m_2 = -\frac{1}{m_1}$$